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10th Physics 
UNIT – 3 

THERMAL PHYSICS 
Choose the correct answer 
  

1. The value of universal gas constant  
a. 3.81 mol–1 K–1     b. 8.03 mol–1 K–1  
c. 1.38 mol–1 K–1      d. 8.31 mol–1 K–1  

 nghJ thA khwpypapd; kjpg;G 
a. 3.81 Nkhy;-1 K–1     b. 8.03 Nkhy;-1 K–1  
c. 1.38 Nkhy;-1 K–1     d. 8.31 Nkhy;-1K–1  

 
2. If a substance is heated or cooled, the change in mass of that substance is  

a. positive  b. negative   c. zero   d. none of the above  
 xU nghUis ntg;gg;gLj;jpdhNyh my;yJ Fsph;tpj;jhNyh mg;nghUspd; epiwapy; 
Vw;gLk; khw;wk; 

 a. Neh;f;Fwp b. vjph;f;Fwp  c. Rop   d. ,tw;wpy; vJTkpy;iy 
 

3. If a substance is heated or cooled, the linear expansion occurs along the axis of  
a. X or –X  b. Y or –Y   c. both (a) and (b)    d. (a) or (b)  

 xU nghUis ntg;gg;gLj;Jk;NghJ my;yJ Fsph;tpf;Fk;NghJ Vw;gLk; ePs;ntg;g 
tphpT ve;j mr;R topahf eilngWk;? 
a. X my;yJ –X      b. Y my;yJ  –Y     

c. (a) kw;Wk; (b)     d. (a) my;yJ (b) 
 

4. Temperature is the average ___________ of the molecules of a substance  
a. difference in K.E and P.E    b. sum of P.E and K.E  
c. difference in T.E and P.E    d. difference in K.E and T.E 

 %yf;$Wfspd; ruhrhp ntg;gepiy MFk;. 
 a. ,af;f Mw;wy; kw;Wk; epiy Mw;wYf;fpilNa cs;s NtWghL 
 b. ,af;f Mw;wy; kw;Wk; epiy Mw;wypd; $Ljy; 
 c. nkhj;j Mw;wy; kw;Wk; epiy Mw;wYf;fpilNaahd NtWghL 
 d. ,af;f Mw;wy; kw;Wk; nkhj;j Mw;wYf;fpilNaahd NtWghL 
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Match the items  
 

A. Linear expansion    1. Change in volume  
B. Superficial expansion    2. Hot body to cold body  
C. Cubical expansion    3. 1.381 X 10-23 JK-1  

D. Heat transformation    4. Change in length  
E. Boltzmann constant    5. Change in area 
Ans: A – 4; B – 5; C – 1; D – 2; E – 3 
nghUj;Jf: 
A. ePh; ntg;gtphpT    1. gUkdpy; khw;wk; 
B. gug;G ntg;g tphpT   2. #lhd nghUspypUe;J Fsph;r;rpahd nghUs; 
C. gUk ntg;g tphpT   3. 1.381 X 10-23 JK-1  

D. ntg;g Mw;wy; guty;   4. ePsj;jpy; khw;wk; 
E. Nghy;l;];Nkd;    5. gug;gpy; khw;wk; 
Ans: A – 4; B – 5; C – 1; D – 2; E – 3 
 

V. Assertion and reason type questions  
 

1. Assertion: There is no effects on other end when one end of the rod is only heated. 
Reason: Heat always flows from a region of lower temperature to higher  
        temperature of the rod.  

a. Both the assertion and the reason are true and the reason is the  correct 
explanation of the assertion.  
b. Both the assertion and the reason are true but the reason is not the correct 
explanation of the assertion.  
c. Assertion is true but the reason is false.  
d. Assertion is false but the reason is true.  
$w;W: xU cNyhfj;jpd; xU Kidapy; ntg;gg;gLj;Jk; NghJ kw;nwhU 
   KidAk; ntg;gk; milAk;. 
fhuzk;: ntg;g Mw;wyhdJ ntg;gepiy Fiwthf cs;s  gFjpapypUe;J ntg;g  
   epiy mjpfkhf cs;s gFjpf;F guTk;. 
a. $w;Wk; fhuzKk; rhpahf nghUe;JfpwJ. NkYk; fhuzk; $w;iw rhpahf 
tpsf;FfpwJ. 
b. $w;Wk; fhuzKkp; rhp> Mdhy; fhuzk; $w;wpid rhpahf tpsf;ftpy;iy. 
c. $w;W rhpahdJ Mdhy; fhuzk; jtW. 
d. $w;W jtwhdJ vdpDk; fhuzk; rhp 
 

2. Assertion: Gas is highly compressible than solid and liquid 
Reason: Interatomic or intermolecular distance in the gas is comparably high. 

 a. Both the assertion and the reason are true and the reason is the correct  
      explanation of the assertion.  
 b. Both the assertion and the reason are true but the reason is not the  
     correct explanation of the assertion.  
 c. Assertion is true but the reason is false.  
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 d. Assertion is false but the reason is true.  
gpd;tUk; $w;Wfis Muha;f.   
$w;W: jpl kw;Wk; jput nghUs;fis tpl thA nghUl;fs; mjpf mKf;fj;jpw;F  
   cl;gLk;. 
fhuzk;: mZf;fs; my;yJ %yf;$WfSf;F ,ilNa cs;s njhiyT  
    xg;gplj; jFe;j tifapy; mjpfk;. 
 a. $w;Wk; fhuzKk; rhpahf nghUe;JfpwJ. NkYk; fhuzk; $w;iw rhpahf  
    tpsf;FfpwJ. 

b. $w;Wk; fhuzKkp; rhp> Mdhy; fhuzk; $w;wpid rhpahf tpsf;ftpy;iy. 
    c. $w;W rhpahdJ Mdhy; fhuzk; jtW. 

  d. $w;W jtwhdJ vdpDk; fhuzk; rhp 
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9TH BOOK 
UNIT 7 
HEAT 

 
Choose the correct answer.  
 

1. Calorie is the unit of  
 a. heat   b. work   c. temperature   d. food  
 fNyhhp vd;gJ vjDila myF?  
 a. ntg;gk;  b. Ntiy  c. ntg;gepiy   d.czT  
 

2. SI unit of temperature is  
 a. fahrenheit  b. joule c. Celsius  d.Kelvin 

 ntg;gepiyapd; SI myF  
 a. /ghud; P̀l; b. [_y;  c. nry;rpa]; d.nfy;tpd;  
 

3. Two cylindrical rods of same length have the area of cross section in the 
ratio 2:1. If both the rods are made up of same material, which of them 
conduct heat faster?  

 a. Both rods  b. Rod-2  c. Rod-1   d. None of them  
 xNu ePsKs;s ,uz;L cUis tbtpYs;s fk;gpfspd; FWf;F ntl;Lg; 
 gug;gpd; tpfpjk; 2 : 1 ,uz;L fk;gpfSk; xNu khjphpahd nghUspdhy; 
 nra;ag;gl;bUe;jhy; ve;jf; fk;gp ntg;gj;ij mjpfk; flj;Jk;?  
 a. ,uz;Lk;  b. fk;gp – 2 c. fk;gp – 1 d.vJTkpy;iy  
 

4. In which mode of transfer of heat, molecules pass on heat energy to 
neighbouring molecules without actually moving from their positions?  

 a. Radiation  b. Conduction   c. Convection  d. Both b and c 
%yf;$Wfspd; ,af;fkpd;wp ntg;gkhdJ xU %yf;$wpy; ,Ue;J mUfpy; 
,Uf;Fk; kw;nwhU %yf;$Wf;F ntg;gj;ijf; flj;Jk; Kiwapd; ngah; 
vd;d?  

 a. ntg;gf;fjph;tPr;R    b. ntg;gf;flj;jy;  
 c. ntg;gr;rydk;     d. a kw;Wk; c  
  

5. A device in which the loss of heat due to conduction, convection and 
radiation is minimized is  

 a. solar cell  b. solar cooker  c. thermometer  d.thermos  flask 
  ntg;gf; flj;jy;> ntg;gr; rydk;> ntg;gf; fjph;tPr;R Mfpatw;wpd; %yk; 
 Vw;gLk; ntg;g ,og;igf; Fiwf;Fk; fUtp.  
 a. #hpa kpd;fyk;    b. #hpa mOj;j rikaw;fyd;   
 c. ntg;gepiykhdp   d. ntw;wplf; FLit  
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Assertion and Reason 
 

1. Assertion : Food can be cooked faster in vessels with copper bottom.  
 Reason : Copper is the best conductor of heat. 
      Mark the correct choice as:  

a. If both assertion and reason are true and reason is the correct 
explanation  of assertion.  

 b. If both assertion and reason are true but reason is not the correct 
 explanation of assertion.  
 c. If assertion is true but reason is false.  
 d. If assertion is false but reason is true. 
 rhpahd xd;iwj; Njh;e;njL.  
 $w;W : jhkpug; gFjpia mbg;gFjpahff; nfhz;l ghj;jpuq;fs; %yk;  
   tpiuthf rikf;fyhk;.  
 fhuzk;: jhkpuk; xU vspjpw; flj;jp  
  a. $w;W fhuzKk; rhp> $w;Wf;fhd fhuzk; rhpahdJ  
 b. $w;W fhuzKk; rhp> Mdhy; $w;Wf;fhd fhuzk; jtW  
 c. $w;W rhp> fhuzk; jtW  
 d. $w;W jtW> fhuzk; rhp  
 

2. Assertion : Maximum sunlight reaches earth’s surface during the noon  
     time.  

 Reason : Heat from the sun reaches earth’s surface by radiation.  
 Mark the correct choice as:  

a. If both assertion and reason are true and reason is the correct 
explanation of assertion.  

 b. If both assertion and reason are true but reason is not the correct 
 explanation of assertion.  
 c. If assertion is true but reason is false.  
 d. If assertion is false but reason is true. 
 $w;W : kjpa Ntisapy; mjpfkhd #hpaf; fjph;fs; G+kpia 

te;jilfpd;wd.  
 fhuzk;: #hpaf;fjph;fs; ntg;gf; fjptPr;R %yk; G+kpia te;jilfpd;wd.  
 a. $w;W fhuzKk; rhp> $w;Wf;fhd fhuzk; rhpahdJ  
 b. $w;W fhuzKk; rhp> Mdhy; $w;Wf;fhd fhuzk; jtW  
 c. $w;W rhp> fhuzk; jtW  
 d. $w;W jtW> fhuzk; rhp  
  

3. Assertion: When water is heated up to 100oC, there is no raise in  
  temperature until all water gets converted into water vapour.  
Reason: Boiling point of water is 10°C. 
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Mark the correct choice as:  
a. If both assertion and reason are true and reason is the correct 
explanation   
   of assertion.  
b. If both assertion and reason are true but reason is not the correct  
   explanation of assertion.  

 c. If assertion is true but reason is false.  
 d. If assertion is false but reason is true. 
 rhpahd xd;iwj; Njh;e;njL: 
 $w;W : ntg;gepiy 100° C vl;baTld; ntg;gepiy NkYk; khwhky; ePh;  
     ePuhtpahf khWfpwJ.  
 fhuzk;: ePhpd; nfhjpepiy 10°C.  
 a. $w;W fhuzKk; rhp> $w;Wf;fhd fhuzk; rhpahdJ  
 b. $w;W fhuzKk; rhp> Mdhy; $w;Wf;fhd fhuzk; jtW  
 c. $w;W rhp> fhuzk; jtW  
 d. $w;W jtW> fhuzk; rhp 
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8th STANDARD SCIENCE  
TERM –II 

1. Heat 
Choose the best answer. 
 
1. Heat is a form of ________. 

 a. electrical energy   b. gravitational energy 
 c. thermal energy   d. None of these 
 ntg;gk; vd;gJ xU tifahd _________. 
 a. kpd;dhw;wy;     b. <h;g;G Mw;wy;  
 c. ntg;g Mw;wy;     d. vJTkpy;iy  
 

2. If you apply some heat energy to a substance, which of the following 
can take place in it? 

 a. Expansion    b. Increase in temperature 
 c. Change of state   d. All the above 
 xU nghUSf;F ntg;g Mw;wy; mspf;fg;gLk;NghJ gpd;tUtdtw;Ws; 
vJ / vit epfo KbAk;?  
 a. tphptiljy;    b. ntg;gepiy cah;T  
 c. epiykhw;wk;    d. midj;Jk;  
 

3. Which of the following substances will absorb more heat energy? 
 a. Solid   b. Liquid  c. Gas  d. All the above 
 gpd;tUk; nghUs;fspy; vJ mjpf ntg;g Mw;wiy cl;fth;fpwJ?  
 a. jplg;nghUs;    b. jputg;nghUs;  
 c. thAg;nghUs;     d. midj;Jk;  
 

4. If you apply equal amount of heat to a solid, liquid and gas 
individually, which of the following will have more expansion? 

 a. Solid   b. Liquid   c. Gas  d. All of them 
 jpl> jput kw;Wk; thAf;fSf;F rk msT ntg;g Mw;wy; mspf;Fk; 
NghJ> vJ mjpf tphpTf;F cl;gLk;? 

 a. jplg;nghUs;    b. jputg;nghUs;   
c. thAg;nghUs;   d. midj;Jk;  
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5. The process of converting a liquid into a solid is called_________. 
 a. sublimation    b. condensation   
c. freezing     d. depositions 
 jput epiyapypUe;J jplepiyf;F khWk; epfo;tpw;F ________ vd;W 
ngah;.  
 a. gjq;fkhjy;    b. Fsph;tpj;jy;   
c. ciwjy;    d. gbjy;  

 
6. Conduction is the heat transfer which takes place in a____________. 

  a. solid    b. liquid   c. gas   d. All of them 
 ntg;gf;flj;jy; Kiwapy; ntg;g Mw;wy; ghpkhw;wk; ______ y; 
eilngWk;.  
 a. jplg;nghUs;    b. jputg; nghUs;   
c. thAg;nghUs;   d. midj;Jk;  
 
 

Read the directions give below and answer the questions.  
 

1. Consider the following statement 
Assertion (A):  Radiation is a form of heat transfer which takes place  
    only in vacuum. 
Reason(R):  The thermal energy is transferred from one part of a 

substance to another part without the actual 
movement of the atoms or molecules. 

a. If both assertion and reason are true and the reason is the correct 
explanation of the assertion. 

 
b. If both assertion and reason are true, but reason is not the correct       

explanation of the assertion. 
c. If the assertion is true, but the reason is false. 
d. If the assertion is false, but the reason is true. 
$w;W : ntw;wplj;jpy; ntg;g Mw;wy; guTk; Kiwf;F ntg;gf; fjph;tPr;R  
   vd;W ngah;.  
fhuzk; : mZf;fspd; ,af;fkpd;wp xU gFjpapypUe;J kw;nwhU 
gFjpf;F ntg;gk; guTk; Kiwf;F ntg;gf; fjph;tPr;R vd;W ngah;.  
a. $w;Wk;> fhuzKk; rhp> fhuzk; $w;iw ed;F tpsf;FfpwJ 
b. $w;W rhp> fhuzk; jtW  
c. $w;W jtW> fhuzk; rhp 
d. $w;Wk; fhuzKk; rhp> Mdhy; fhuzk; $w;iw tpsf;ftpy;iy  
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2.   Consider the following statement  

Assertion (A): A system can be converted from one state to another 
state. 
Reason (R) : It takes place when the temperature of the system is 

constant. 
a. If both assertion and reason are true and the reason is the correct  
   explanation of the assertion. 

b. If both assertion and reason are true, but reason is not the correct        
   explanation of the assertion. 
c. If the assertion is true, but the reason is false. 
d. If the assertion is false, but the reason is true. 
$w;W  : Xh; mikg;gpid xU epiyapypUe;J kw;nwhU epiyf;F 
khw;w  
    KbAk;.  
fhuzk; : xU mikg;gpd; ntg;gepiy khwhky; ,Uf;Fk;NghJ ,J  
    epfo;fpwJ. 
a. $w;Wk;> fhuzKk; rhp> fhuzk; $w;iw ed;F tpsf;FfpwJ 
b. $w;W rhp> fhuzk; jtW  
c. $w;W jtW> fhuzk; rhp 
d. $w;Wk; fhuzKk; rhp> Mdhy; fhuzk; $w;iw tpsf;ftpy;iy  

 


